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2 sin (3 -20) = = 0 & ¢ < 360
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hence.
x.-20 = 45 o= 657
5 - 20 = 135 x = 1557
&5° 1557
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hence.

3¢ =20
3¢ = 24O
3oc = 4RO
25 = (00O
e = BHO

cos (3x) = -7

cos(wn) = -~ _‘i
\_3 = C(DS“l "'"i_
\d = 360 — |20
\d = L0 + 360
LO = 240 + 360
y = L0 + 360
LO - 600 1’360
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Esn 2oc = 2cos 2.
{-an?.ac.'-'-_75.~_.. 04 X £ 360
= _.:2;. L & < 720
Jrc:m tj = @

Y = fan’ (25.) = 21.%
y = 120+ 21.3 = 201.%

kj: 180 + 201.8 = 381.8

Y 180 + 381.8 = 5618
Aoc. = 213 : o= 1097
g =201y - X 1009
2o = 3813 . o= 1909

Yy S 56 . ¢ . x = 2%0-9



S5anx = | + Zcs

5 swoe = |+ 2(1=sn %)
& s = | + 2 — Zsin"C
5 smo = B —2sintc

2smn 2 + Ssinx. =2 =0

lek sindc =y
262‘ i 53 — & = L)
(29-1)(p+2) = ©
L oy=-3
y=3 J
S\Y\DC:']i sinx = -3
No seluEiens
X = 30

~c_ = 180-30= |30
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2ecos'x. +1 = Ssin
20 - Smix.D +1 = OsInK
2 -2sn> +1 = OsSnx
O = 2sin*x + Ssnx -~ 3

ekt a = sS\ndc
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dc = 30
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o) Aan*x. + Qs & -6 5

4(1- os™) + Aes X - 6

|
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4 - Acose t qeosx. -6 = O

O = 4coszac_ — Qs . + A

b)
\et- cosx-:-d
O = 4—8)7‘ — qa + 2 0 & ¢ £720
O = (4—6—0(%—-2‘)
= 1 = A
9=z J
S x_ — —_— COS._I__ = 2
- 4’— No solutiens
.I‘: 75.50
X = 360-75.5 = 284S
~ = 75.5 +360 = 435.5°
. = 2845 +3460 = 645"
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| + tan® = O 5sin B8 -2
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Fan © = -~ s 2
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23.46
|RO — 2356 = |56.‘-|—°
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Q= -45
© = —45 +180 = 125
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& = -—4—5e; 7\3.60) 1356; \56-L{-°

“‘) A sinoc = Btan ¢

A oy . F 2, siN2C
CoOS <

A SN L s = 3SINS%C

A s CosSL — RLginxe = O

S\n'x_cé\-cos'x, — 3_) = 3

O 4 26 & 36o

siNnox =0 A4 osx.-> =0

. cosx = 2
. =0 4
x = \80-O<I80 s m A

A = 260 — AN .4+ 3R.6

ox. = 0° 44" 1807, BIB.6T



